> ExampleData<-read.table("wtheightm.txt",header=TRUE)

> ExampleData

> Htwt<-lm(Weight ~ Height,data=ExampleData)
> summary(Htwt)

Call:

lm(formula = Weight ~ Height, data = ExampleData)

Residuals:

    Min      1Q  Median      3Q     Max 

-45.779 -15.783  -3.787  14.207  58.213 

Coefficients:

            Estimate Std. Error t value Pr(>|t|)    

(Intercept) -317.919    110.922  -2.866  0.00653 ** 

Height         6.996      1.581   4.425 6.98e-05 ***

---

Signif. codes:  0 '***' 0.001 '**' 0.01 '*' 0.05 '.' 0.1 ' ' 1 

Residual standard error: 24 on 41 degrees of freedom

Multiple R-Squared: 0.3232,     Adjusted R-squared: 0.3067 

F-statistic: 19.58 on 1 and 41 DF,  p-value: 6.978e-05 

> confint(Htwt)

                  2.5 %    97.5 %

(Intercept) -541.930897 -93.90742

Height         3.802741  10.18898
> Xh<-data.frame(Height=72)

> predict(Htwt,Xh,se.fit=TRUE,interval="confidence",level=0.95)

$fit

          fit      lwr      upr

[1,] 185.7829 176.2532 195.3126
$se.fit

[1] 4.71876

$df

[1] 41

$residual.scale

[1] 24.00057

> predict(Htwt,Xh,se.fit=TRUE,interval="prediction",level=0.95)

$fit

          fit      lwr      upr

[1,] 185.7829 136.3848 235.1810
$se.fit

[1] 4.71876

$df

[1] 41

$residual.scale

[1] 24.00057

> anova(Htwt)

Analysis of Variance Table

Response: Weight

          Df Sum Sq Mean Sq F value    Pr(>F)    

Height     1  11277   11277  19.578 6.978e-05 ***

Residuals 41  23617     576                      

---

Signif. codes:  0 '***' 0.001 '**' 0.01 '*' 0.05 '.' 0.1 ' ' 1 

>
GOALS:

1. Find the least squares regression line: −317.919 + 6.996 X (I rounded off to −318+7 X)

2. Test Ho: β1 = 0: t* = 4.425 , p-value = 6.98e-05, p-value < 0.05, reject Ho.
3. Find a 95% confidence interval for β1: 3.802741  10.18898, the interpretation of this is that we are 95% confident that true population slope β1 is something in this interval, where the slope represents the additional expected weight for an increase in height of one inch.
4. Find a 95% confidence interval for E(Yh) when Xh = 72 inches. In other words, find a 95% confidence interval for the mean weight of all college men who are 72 inches tall: 

176.2532 195.3126
5. Find a 95% prediction interval for Yh(new) when Xh = 72 inches. In other words, find an interval that we are 95% certain covers the weight of an individual college male who is 72 inches tall: 136.3848 235.1810
6. Find R2 for this situation: R2 =  0.3232  or, finding it from the formula, SSR/SSTO = 
11277/23617 = 0.323.

Other numbers available from the computer output:

s = 24  (with 41 degrees of freedom)
MSE = 576
The “fitted value” 
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